
𝐼 = 10௕ି௦

𝐼 = 10
௕ି௦
ଵ଴

⎯⎯⎯ ; Sound

𝐹 =  𝑃 ቀ1 ±
𝑟

𝑛
⎯⎯ቁ

 

௧௡

𝐹 = 𝑃(𝑟)
௧
்
⎯⎯

𝐹 = 𝑃(1 ± 𝑟) 
௧

KEY

𝐹 ∶ 𝐹𝑢𝑡𝑢𝑟𝑒 𝐴𝑚𝑜𝑢𝑛𝑡
𝑃 ∶ 𝑃𝑟𝑒𝑠𝑒𝑛𝑡 𝐴𝑚𝑜𝑢𝑛𝑡
𝑟 ∶ 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡 𝑟𝑎𝑡𝑒 𝑎𝑠 𝑑𝑒𝑐𝑖𝑚𝑎𝑙
𝑡 ∶ 𝑡𝑖𝑚𝑒 (𝑖𝑛 𝑦𝑒𝑎𝑟𝑠∗)

KEY

𝐼 =
𝐼௕

𝐼௦
⎯⎯: 𝐼𝑛𝑡𝑒𝑛𝑠𝑖𝑡𝑦

𝑏 − 𝐿𝑎𝑟𝑔𝑒𝑟 𝑅𝑖𝑐ℎ𝑡𝑒𝑟, 𝐷𝑒𝑏𝑖𝑏𝑒𝑙, 𝑝𝐻 𝑒𝑡𝑐
𝑠 − 𝑆𝑚𝑎𝑙𝑙𝑒𝑟 𝑅𝑖𝑐ℎ𝑡𝑒𝑟, 𝐷𝑒𝑐𝑖𝑏𝑒𝑙, 𝑝𝐻 𝑒𝑡𝑐

Interest

; with Compounding

𝐹 = 𝑃𝑒௞௧ ; Continuous Growth

; Growth with "T"

𝑰𝒏𝒕𝒆𝒏𝒔𝒊𝒕𝒚

; Earthquakes, 𝑝𝐻∗

;+= 𝐺𝑟𝑜𝑤𝑡ℎ
 −= 𝐷𝑒𝑐𝑎𝑦

𝑀𝑒𝑡ℎ𝑜𝑑:  𝐴𝑟𝑏𝑖𝑡𝑟𝑎𝑟𝑖𝑙𝑦 𝑠𝑒𝑡 𝑃 =  100% 𝑜𝑟 100 𝑜𝑟 1

𝑝𝐻 = −log (𝐻ା)

𝑅𝑒𝑚𝑒𝑚𝑏𝑒𝑟:  𝑇ℎ𝑒 𝑒𝑥𝑝𝑜𝑛𝑒𝑛𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑡𝑖𝑚𝑒 𝑜𝑟 𝑡ℎ𝑒 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑡𝑖𝑚𝑒 𝑝𝑒𝑟𝑖𝑜𝑑𝑠.

𝐷𝑒𝑐𝑎𝑦 10% = .1 15% = .15 40% = .4 50% = .5 60% = .6 95% = .95 𝐻𝑎𝑙𝑓 − 𝐿𝑖𝑓𝑒

(1 − 𝑟) (1 − .1) (1 − .15) (1 − .4) (1 − .5) (1 − .6) (1 − .95) (1 − 0.5)

(…..) (.9) (.85) (.6) (.5) (.4) (.05)
(
1

2
⎯⎯)

𝐺𝑟𝑜𝑤𝑡ℎ 2% = .02 15% = .15 40% = .4 50% = .5 60% = .6 100% = 1.00 𝐷𝑜𝑢𝑏𝑙𝑒

(1 + 𝑟) (1 + .02) (1 + .15) (1 + .4) (1 + .5) (1 + .6) (1 + 1.00)

(…..) (1.02) (1.15) (1.4) (1.5) (1.6) (2) (2)

𝑇: 𝑇𝑖𝑚𝑒/𝐴𝑚𝑜𝑢𝑛𝑡 𝑓𝑜𝑟 𝑅𝑎𝑡𝑒 𝑡𝑜 𝑶𝑪𝑪𝑼𝑹

𝑛 ∶ # 𝑜𝑓 𝑐𝑜𝑚𝑝𝑜𝑢𝑛𝑑𝑖𝑛𝑔 𝑝𝑒𝑟𝑖𝑜𝑑𝑠 𝑝𝑒𝑟 𝑦𝑒𝑎𝑟 
𝑟

𝑛
⎯⎯: 𝑅𝑎𝑡𝑒 𝑝𝑒𝑟 𝑝𝑒𝑟𝑖𝑜𝑑

𝑡𝑛: 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑝𝑒𝑟𝑖𝑜𝑑𝑠

𝑌𝑒𝑎𝑟𝑙𝑦;    𝑛 = 1
𝑀𝑜𝑛𝑡ℎ𝑙𝑦; 𝑛 = 12
𝑊𝑒𝑒𝑘𝑙𝑦;   𝑛 = 52

𝑒: 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡 ≈ 2.71. .
𝑘: 𝑝𝑟𝑜𝑝𝑜𝑟𝑡𝑖𝑜𝑛𝑎𝑙 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡

𝐹 = 100(.87) 
௧

𝐻ା- Concentration 
of Hydrogen

𝑮𝒓𝒐𝒘𝒕𝒉 & 𝑫𝒆𝒄𝒂𝒚

𝐹 =

𝑃∗ ቆቀ1 +
𝑟
𝑛⎯⎯ቁ

௧௡
− 1ቇ

𝑟
𝑛⎯⎯

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑛 =
1

𝑇
⎯⎯

𝑥௠ × 𝑥௡ = 𝑥௠ା௡            
            

𝑥௠

𝑥௡⎯⎯⎯= 𝑥௠ି௡ (𝑥௠)௡ = 𝑥௠×௡   𝑥ି௔ =
ଵ

௫ೌ⎯⎯

1

𝑥ି௔⎯⎯⎯ = 𝑥௔ 

𝑥
௠
௡
⎯⎯ = √𝑥௠⎯⎯⎯೙ ቆ

𝑥

𝑦
⎯⎯ቇ

ି௠

=
𝑦௠

𝑥௠⎯⎯⎯

Change of Base

Exponent Laws

8 = 2ଷ

81 = 9ଶ = 3ସ

P : Payments
Foundations 12

ቀ1 +
𝑟

∞
⎯⎯ቁ

ஶ
௥
⎯⎯

≈ 𝑒 = 2.71. .

𝐹 = 100 ቆ
1

2
⎯⎯ቇ

௧
ହ
⎯⎯

𝑙𝑒𝑡 𝑚 = 2௫

𝑦ଵ = 𝑦ଶ Find Intersection (Or use Logs)
Same Base/Exponent: Make Exponents/Bases equal to each other.
Take both/sides to reciprocal exponent of variable/things.
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